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Analysis of variances.

Di

ct materials p

[The variance was £4,000 favourable. This means thatthe price was lower than expeted. This is probably
due tothe purchase of a lower quality product, which may resultin more wastags. The price variance is often
linked to the usags variance. The usage variance can also be effected by ofher factors liks the kil or the.

motivation ofthe labour force orthe quality ofthe machines. The variance appears to be good butthe lower

quality has been estimated to have caused £2,400 (30% of £8,400) ofthe usage variance the result being a
net gain of £1,600 (24,000 F less £2,400 4).

Direct materials usage va

nce

[The usage variance was £8,000 adverse. This means thal more material was Used than expected. This
annears to supportthe issue with material guality but may also bie due to the machinery problems which also

appear o link back to the lower grade materials. It appears that there is a strong link between the usage
variance and the price variance.

Direct labour rate variance

[The variance was £8,000 adverse which means a higher rate was paid than expected. This may be in part
due to the overtime payments and in part due to the pay rise. Overtime appears to be due to the special order
lout may also be due ta the machin breakdowns causing loss of production.





CBT Practice test model answers

Financial Performance (FNPF)

Practice assessment 2

Section 1

Task 1.1

[image: image2.png]Complete the standard cost card below for Alpha.

1unit
IMateral 1 05 7 35
IMateral 1 05 2 5
ILabour 25 10 2
[Fxed averneads 25 2 5
[rota 05





Task 1.2
[image: image3.png]Calculate the following variances, if any.

|Direct material usage 450 |[acverse _ |hd

|Direct matertal price 500 |[favouravle g

[pirect labour rate 360 |[averse _ |hd

[pirect labour efficiency 300 |[favourable

1





Task 1.3
[image: image4.png](a) Calculate the following variances, if any.

[Fixed ovemes capaciy 1225 0

[Frea ovemead ependiure sers
[Fred ovemead sency 7250 | fvouave [l

Information relating to the overheads for the period for Gamma, is shown below:

Budgeted outputis 15,000 units
Actual output was 15,700 units
Budgeted overheads are £300,000
Actual overheads were £320,000
‘Budgeted labour hours are 60,000
Actual abour hours were 58,000

(b) Complete the following sentences.

‘The budgeted overhead absorption rate per houris £ [5

The fixed overhead volume variance is [favourable,





Task 1.4
[image: image5.png](a) Drag and drop the correct variance into the correct column and calculate the standard cost for actual
production, the total variance and the actual cost for actual production.

tfor actual production 103050
Varia

[Direct materials price 252,000

[Direct materals usage 31,200

IDirectabour rate 7800

[Directabour effciency 10,400

|Fixed overhead expenditure £1500

[Fixed overhead capacity £4,500

[Fxed overhead effciency £3250

[Totalvariance o
187700

|Actual cost of actual production






Task 1.4, continued
[image: image6.png](b) The fixed overhead capacity and efficiency variances will always be equal to which ONE of the
following variances:

“The total ixed overhead variance

“The fixed overhead volume variance

The fixed overhead expenditure variance

The fixed overhead expenditure variance less the fixed overhead volume variance





Task 1.5
[image: image7.png](a) Complete the table below by selecting the correct seasonal variation from the picklist.

(Cost per ltre

le1.50

le1.45

le1.80

lUnderling trend

le1.40

le1.45

le1.55

[Seasonal variation

EX

0.25





[image: image8.png](b) Complete the table to show the underlying cost and the forecast cost for each of the months October
to December.

|underlying costperka )| 100 105 110 15 120 125
[seasonalvariaon ()] 10 ® 7 10 @® 7
|Actual cost forecastcost )] 110 100 17 125 12 132






[image: image9.png](c) The cost per unit of material AW10 was £120 per unitin January 20X1 and is £150 per unitin January
20X,

Using January 20X1 as the base year the cost index for material AW10 as at January 208 is [125

‘The cost per unit has increased by [25 percent between January 20X1 and 20X8.





Task 1.6
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Candidate No: 1234656 © Question: 12

[Budgeted units produced 100,000

|Actual units produced 120,000

You have been given the following additional information:

« Your colleague has not indicated the sign for all variances so you will need to use your skill o identify the
likely sign.

« Alower quality of materials was purchased and used.

* The material was tested and discovered to be of a lower grade. Ithas been estimated thatthis accounted
for 30% of the usage variance.

+ Aspecial order was received resulting in overime being used to fulfl the order. Also staff were given a pay.
tise which they all appreciated.

« One ofthe machines had to be repaired and it was established thatthe lower grade material caused more.
wear then expected.

Using this information, prepare  report to the Managing Director to cover an analysis of each variance by:
«Identifying the sign for variances which are not aiready identified

« Explaining what the variance means.

« Providing possible reasons for each variance.

« Explaining any links between the variances

To: - [Managing Director Subject: [analysis of Variances

From: Date:

[AAT Student December 2011

[EBEEE

Analysis of variances

Direct materials price variance

4 [SolutionExplorer o8 x

[am 22rmprowoer =
(53 Finish page

Testof automatic score

11 blueprint content

e 2011 blueprint peBTL

- 1 Introduction

B @ Section1

H- & Section2

53 2011 blueprint LIV asses
e 2011 blueprint PcBT2

- & Introduction

Er- & sectionl L
8] Copy of 11 PN
8] Copy of 12PN
8] Copy of 137N
&[5 Copy of LA FN|E
8] Copy of L5 PN
B3] Task 16 Copy |
3 & Section2

8] Task 21 Copy
Task 22 Copy 1 ™

52 solutio.

Properties

Bl Page.

IsPageAtt| True

BageNian 25%

B Scene

Currentsc| Main Scene
IsScenAt False

‘SceneMar| Input string was n

PageMark

Breview

Returns the current mark the
user has achieved for the pa.

Properties

Usemame: gemmamulreany (Standard User)

[Sorver:hitps//aat bllsupass oo Uk cortrt [ONLINE




[image: image1.jpg]aat





Task 1.6, continued
[image: image11.png]Direct labour efficiency variance

[This variance is £14,000 favourable which means fewer hours were Used than expected. il appears thatin
spits of the lower grade material and the machine repairs stafflabour still performed better than planned. It
may be that with a better qualty material this variance would have been even more favourable. Perhaps the
overtime payments motivated the staff and alsa the pay rise motivated the staf.

Fixed overhead expendliture variance

[The variance was £6,000 adverse. This means the actual costs were higher than expected. This appears (o

e due to the repairs to the machines caused by the lower grads materials. Thers is possibly a strong link
between the expenditure variance and the material price variance.

Fixed overhead volume variance

[The variance was £10,000 F. This means he actual valume was more than expected. This has been caused
by the special order. This means that more overhead has heen absorbed than expected.





Task 1.6, continued
[image: image12.png]Possible total effect of purchasing the lower grade material

[tappears thatthe lower qualiy material caused adverse variances for material usage and overhead
exnenditure and could also have caused some of the lahour rate variance. The eflect could have been as high|
25 2,400 A for usage, 6,004 for overheads and a proportion of the 8,000 A labour rate. The total effect could
e s high as 16,4004 less the 4,000F = 12,4004,





Section 2
Task 2.1
[image: image13.png]Calculate the following performance indicators for Company A and Company B. Give answers to two
decimal places where appropriate.

[seling pice per unit 0 w0
|Waterial cost per unit 5 s
|Labour cost per unit 9 2
[Fxed producion cost per unit 750 9
|6ross proft marain 2 2750
[Proft margin 5 24
[Retur on net assets s 2
Inventory holcing period n days 2183 2266





Task 2.2
[image: image14.png](a) Complete the following sentences by completing the gapfills.

The contribution per unitis £ [24

The break even sales volume (in whole units)is

The margin of safety (to two decimal places) is

72917

[27.08

units.




[image: image15.png](b) Complete the following sentences:

“The additional revenue wil be £ [750,000

‘The additional contribution will be £ [350,000

‘The addiional profitwill be £[50,000





[image: image16.png](c) The marketing department is concerned that the volume of sales may not reach 125,000 per period.
‘The finance director has asked for the break even sales volume. Complete the sentences below.

The fixed costs are £ [2,050,000

‘The contribution per unitis £ [22

The break even sales volume is [93181.81 ] units.





Task 2.3
[image: image17.png](a) The target total production cost per unitis £ [49

(b) The target variable material cost per unitis £ [10

(c) The contribution per unitis £ [33

() The required volume of sales (assuming that the target variable cost per unit is met) to achieve a total profit of
£800,000is [35157 {tothe nearest unit).





Task 2.4
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[Direct materials cost per unit £8.00) 28.00)
[Direct abour cost per unit £5.00) 24.00)
[Fixed production cost per unit £8.00) 24.00)

Drafta report for the Finance Director covering the following:

Candidate No: 1234656 © Question: 12

() An explanation of why the gross profit margins are different,referring to the following:

« sales price
« sales volume

- materials

« labour

+ fixed production costs
« the dominant factor.

(b) An explanation of why the profit margins are different.

(c) A recommendation, with reasons, as to which course of action to take.

To:  [Finance Director Subject: [Gross Profit Margins

From: [AaT Stugent Date:  [December2011

(a) Why are the gross profit margins different?

Sales Price  Sales Volume.
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(@) Why are the gross profit margins diferent?

Sales

ice  Sales Volume

The sales price is higher under S1 (225 compared to £20) which will esultin an increase in the grass profit

margin, however the sales volume is halfthat of 52, which will reduce the margin for 51 ifthere are fixed
costs, because the fixed cost per unitwill be higher.

Materials

[The materials cast per unitis constant and therefore does not affect the grass profitmargin. There is no
planned ecanamy of scale.

Laboy

Labour cost per nitis £5 for 51 decreasing to £4 for §2. The more units thatare produced the lower the.

labour cost per unit. This will improve the margin for 52. Thers appears to be planned econornies of scals in
production ar the learing effect,





Task 2.4, continued

[image: image20.png]Fixed production costs

Fixed costs are constantin total therefore as the volume of production increases the fixed cost per unit
reduces from £8 per unitto £4 per unif,this will increase the margin for S2.

w

the don

ant factor and why?

52 sells twice as many units as 51 and has the same material cost per unif, lower labour cost per unit and
lower fixed costs per unit. All of these would increase $2's margin. However, the sales price per unit s lower|

by 20% which would reduce the margin for 52 Therefore the dominant factor is the additional sales volume
generated under 2.





[image: image21.png](b) Why are the net profit margins different?

[The net profit margins are difierent due to the flow through of the gross profit margin and it could be expected
that 52 would have the better net margin. However, there is a very large increase in advertising costs from
274,000 to £300,000. This is probably necessary to stimulate demand together with the cutin price. The
advertising costs have eroded the gross margin to leave a lower net margin under S2. The administration
costs have also doubled which may be to cover the additional work as demand doubled.





[image: image22.png]{c) Recon with reasons, as to which course of action to take

[Fased purelyon he forecast mformation §1 5 e best option crealing e fargest et proft margin. However,
the sales volume is lower than S2 and therefore the market share is lower. It may be worth setting the price.
lower to gain market share. However, there is a risk that the additional advertising cost does not yield the
expeted increase in sales volume.




